Algeb ra I This is a sample of Cali

Released Test Questions

26| What is the y-intercept of the graph of

4x+2y=127

A -4

B -2

C 6

D 12
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27| Which inequality is shown on the graph below

24| Stan’s solution to an equation is shown below.
Given: n+8(n+20)=110
Stepl: n+8n+20=110
Step 2: In+20=110
Step 3: I9n=110-20
Step 4: 91=90
9 90
Step 5: -2
9 9
Step 6: n=10
Which statement about Stan’s solution is true?
A Stan’s solution is correct.
B Stan made a mistake in Step 1.
C  Stan made a mistake in Step 3.
D Stan made a mistake in Step 5.
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25| When is this statement true?

The opposite of a number is less than the
original number.

This statement is never true.
This statement is always true.

This statement is true for positive numbers.
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This statement is true for negative numbers.
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